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307 elzto| & 405,000 340,000 65,000
05 21t =S 405,000 340,000 65,000
Oltg g5l A=Y
45,000,000 *1IH 2 45,000
OFd STPLIROINME AAS2Y
45,000,000 * 11 2 45,000
Odlet AISZ2EHH A=Y
90,000,000 *10H 2~ 90,000
O8Y xS3HRLIEHH /29
45,000,000 * 10 £ 45,000




SN SEHAD
B =0 A Asl
G SEMEEHAH| (SH &)
SA - BB - S(3H) - MSAY = Ofl by G o MimE=EY
O=d #=UsMdE 2y
45,000,000& 100 2~ 45,000
Od SHSUHE A2
45,000,000& * 10 2~ 45,000
OS8 USME Fsed
45,000,000& * 100 2~ 45,000
OAtN 36538HHIE /2
45,000,000& * 100 2~ 45,000
403 XIXIHHMS K20 A 6,977,000 4,053,000 2,924,000
ras 4,884,000
& 628,000
= 1,465,000
02 2|1 2S0USHAI=E R E A 6,977,000 4,053,000 2,924,000
Oltd SZZ AKX S4SIANY (SZE8 )
3,250,000,000& * 14! 3,250,000
ra 2,275,000
& 293,000
= 682,000
QXIS SEF AKX AN (SEE )
3,727 ,000& * 14! 3,727,000
g 2,609,000
& 335,000
= 783,000
I Z=MENHE 3,616,000 5,630,000 A2,014,000
ras 2,531,000
& 325,000
= 760,000
403 XIXIHHS K20 A 3,616,000 5,630,000 A2,014,000
rag 2,531,000
= 325,000
= 760,000
02 2| 2SH S22 P E AN 3,616,000 5,630,000 A2,014,000
OFA I ZMENHESHAND(SEEHS)
247,000,000 * 1A 247,000
rag 173,000
= 22,000
= 52,000
O JIZMENHESHAND(SEES)
600,000,000& x4 600,000
rag 420,000
= 54,000
= 126,000
Q2 J|ZMENHESHAIE(SEES)
932,000,000& =1 A 932,000
g 652,000




SN SEHD
B =0 A Asl
. =M T (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 84,000
2 196,000
Of% JIZMBHESHALY (SEE)
932,000,000& =1 A 932,000
2 652,000
= 84,000
2 196,000
OFF I ZMEBNEIHA (SEHY)
905,000,000& =1 A 905,000
ras 634,000
& 81,000
= 190,000
SEUS=SA(HEAIY) 2,455,000 1,050,000 1,405,000
401 AIEHIZLE0HY] 2,455,000 1,050,000 1,405,000
01 Al&H| 2,451,031 1,047,480 1,403,551
O02E &S SR (F)
395,000,000 14! 395,000
OB SE0S S (FE)
170,000, 000& =14 170,000
O SZE0US SN (HE
630,000,000 & * 1A 630,000
O2X sZELs SRAIH (M E)
630,000,000& *1A 630,000
OBE s&02 2R (HE)
630,000,000& *99.37% 626,031
03 A& 2CHHI 3,969 2,520 1,449
OBE s£013 SUAIY (X))
630,000,000 *0.63% 3,969
SEFUXHME(SHXR) 409,000 562,000 A 153,000
g 290,000
& 35,700
= 83,300
403 XIXIHHMS K20 A 409,000 562,000 A 153,000
ra 290,000
& 35,700
= 83,300
02 2 |12S0UStAI=E R E A 409,000 562,000 A 153,000
SHR 7 FHAXSMEHAH WAL
409,000,000 * 1A 409,000
g 290,000
& 35,700
= 83,300
SEF XSGR E(BHIXIF) 841,000 222,000 619,000
ray 602,000
= 71,700




A SEEH
B =0 A Asl
Hel: sEdESEE (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
[Ea 167,300
403 AXIEHMSA=01d 841,000 222,000 619,000
[ 602,000
= 71,700
= 167,300
02 SIS0t =2 2 P E A I 841,000 222,000 619,000
OBHE X7 FAXS HEBHH HEAS
841,000,000 x 14 841,000
[ 602,000
= 71,700
= 167,300
SEF UK SN (XIALKIT) 200,000 0 200,000
[ 140,000
= 18,000
= 42,000
403 AXIEHHSAH=0lH 200,000 0 200,000
= 140,000
[ 18,000
[ias 42,000
02 SIS0t =S A A 200,000 0 200,000
OXIAKIT SR MBI HEARS
200,000,000 x 14 200,000
= 140,000
< 18,000
[Ea 42,000
SEFHAXFNE(REXIXIF) 183,000 0 183,000
= 128,000
< 16,500
[Ea 38,500
403 AXIEHHSAH=0lH 183,000 0 183,000
= 128,000
=S 16,500
s 38,500
02 S7I2S0 U H=E 2 EAIEI 183,000 0 183,000
OZEXNXNT FHAXS HE0AH HEA
183,000,000 * 14! 183,000
= 128,000
= 16,500
o 38,500
HY2AGH(sEEH ) 203,937 188, 168 15,769
HE2d(sE=28l) 164,841 144,845 19,9%
H2I(sE=24) 164,841 144,845 19,9%
101 @124H| 164,841 144,845 19,99
01 2= 149,39%5 133,573 15,822




SN sEEAY
M WE2AY|(SEZA)
Ciel: QIHAR2AH|(sEE) (S &)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OAIZte 2244 145,043
—6= 12,8442 x7H+50 Al 2H+ 12 53,945
73 11,6023 *6H*50A| 2t 123 41,768
—8= 10,4163 *6H*50A| 2t 123 37,498
—92 9,802 22 +50A| 2H+ 128 11,832
OX <Ml 145,043,000 *3% 4,352
02 JIEt& &2 7,939 7,740 199
OYBrAJIH Al2tel 2248 7,707
— 65 (124)
12,8443« 1H+50A| 2H 123 7,707
OX 248 7,707,000 *3% 232
03 SR (RIHY)22XNES 7,507 3,532 3,975
OAIZIA2 24 (BLE) 7,186
—AIR AR (85 )
19,538 *15A| 2++ 12& 3,517
—UBH(1758) 20,379 *15A| 2+ % 12& 3,669
OFY222HBLA) 321
—AIE ANEB2I(8EE)
156,30021 %1241 157
—LBH(1758) 163,0323 *1H 1 164
[2Zdl(s=&0) 39,096 43,323 N4, 227
ll2dtl(s=ggm) 39,096 43,323 N4, 227
201 B2 AL| 30,136 34,363 N4 227
01 AtR2elt] 26,748 30,702 A3,954
O=8)| Axz 330, 0002 *1CH* 122 3,960
OAIM0[2I0|E YRS AES
16,0002 % 128 192
OAIRIID| 2Y(BH)
198,000 +6E x 122 14,256
QRZ2RA=SZ(EY) 200,000& =12 2,400
OJIEr2gHI(BH) 5,940,000& 5,940
02 3324l 3,388 3,661 AN2T73
osmeg waE 43021%2, 00004 860
Oxte 84| 80,0008 *1CH* 122 960
OXtgF sXl2eldl 700,000 »1CH 700
OXtsit B8%3 700,000& 700
OX-S A 168,00024*1CH 168
202 01H| 3,600 3,600
01 =LHO4 L] 3,600 3,600
OsZz22])} ALFX (W)
300,000 x 15+ 123 3,600
203 AR F=&lH| 5,360 5,360
03 A FRIHRFAIY| 2,000 2,000




od
i’
oF
uJ

-

KIO

Hlw

HMEE
Ofl &k2h

3,360

Ofl &F2H

2,000
3,360
3,360

- ESS

- SRA(3) - HIRAEY

S - B

Rl

2,000,000&

0B

3,360,000

0B




